- QUIZ TODAY.
In AABC, BD bisects ZLABC, and AE bisects /BAC.

A
D 1. Ifm£2 =40, what 1sm/L

= o
2. FInd m/ZBAC If m/2 =27.

. = C i 7 |

Y 3.Which angles in AXYZ are congruent

Yand Z
+ 4.1f msY = 8x-15and

X Z  msZ=5x+18, findm.Y.
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Right Triangies

HYPOTENUSE
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Pythagorean Theorem

leg” +leg® = hypotenuse”

The square of the hypotenuse Is equal to the sum
of the square of the other two sides.
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6-6 Pythagorean Theorem

16° + 12° = hypotenuse®

256 +144 = hypotenuse’
16 ft

400 = hypotenuse®

V400 = /hypotenuse’ 12 ft
20 ft = hypotenuse




Round to the nearest tenth

3+ leg® =4°

9+Ieg —16 &M
leg?=7  3M
Jleg? =7



If ¢ Is the measure of the hypotenuse, find each
missing measure. Round to the nearest tenth, If

Nnecessary.

1. a=7,b=?c=25 2.a=?0b=10,c=20
7° +b* =25° a® +10% = 203
2  ApE? .
b —25 _7 a2:202_102

b=\(25°-7*) 54— J20"-107)

0=24 a=17.3



The measures of 3 sides for a triangle are given.
Determine whether each triangle is a right triangle.

1. 20, 21, 28 2. 10, 24, 26
2 ?

202 + 212 =282 102 + 242 =267

Check for a2+ b? = ¢?

The legs are always
0 the 2 smaller sides. “es




